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4. What is the sum of all the digits in final result when 1+11+111+---+11---11 is
computed? A. 37 B. 45 C. 46 D. 55 (10)
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8. Assemble a hexagon ( 7N#=21f ) using four right-angled isosceles

triangles (5% & 5 =97 ) where each has an area of 2cm? as

shown in the figure. What is the perimeter of the hexagon?
A.5cm B. 10cm

C.12cm D. not integer in terms of cm
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KL+LH=MK+HM=4=a+b
2+2+2+2+4=12 cm
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10. In the number sentence ABCDxC = AABDD, each letter represents a different
digit. What is the value of ABCD?
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